L & $=1:3000 E M| $=1:500 SHERBE  s=1:10

CRBRTAITVMHERENHEHEE B BI5E,
RUBRRBREBAERCEAVEREIIEHEBRE LBET S L)

o (K & &)
Ny 4
T H it R M o# =
< B I BAEGREA (TOP13 FErmEZE2. 35t/md)
o 54 La—F (PK-3 1. 26L/m2)
= il BANERE (RI-30)
(REITHER)
it R M # =
=3 EN=IE BAZHEAs  (T0P13 ikl Mm% 2. 35t/m3)
s 54 La—F (PK-3 1.26L/m2)
FEZE B B M (RN-30 29mmilE34mmskiE)

MIERE L=28.0m #E8 W=4.0m
BEITOy i (H=2,410~2,960mm)  A=42m2
R[E (t=4cm) A=48m2, P&H& (t=10cm) A=3m2
REERE (FRA29mmil £34mmkiE)  A=44m2

ZAEMER s=1:50

HERIES 4000

. BESY L Aot Fegavoy— b
<= KV 1 - 7 ck=18N/mm2
SHEERBAR s=1:100 T
- — —— WERUIM u T 0y Y R
T< 18500 >T§ 2450
o a .
| ! g
I I RiF - RALER
%} A=43. 94m2 %I
.|.|
| | 2
| o
I | ©
RC-40 T £ & | HRIGEHERHRIE
B oA | BER
T X £ BE |REWHE RE
SHM7EE

AT TR AR B R R




P6.0
4000
450 2782 768
2450 332
239
u ¥10. 103
o
]
: 2y
\ o g
No 2
2.
\\
DL=6. 00
P0.0
4000
450 2782 768
2400 382
L32[~
u V10.042
.|.|
=
S
3

DL=6. 00

2960

i Hl 1.09 | m2
K B 1.27 | m2
mALTERL 0.76 | m2
344 0.23 | m
At 0.33 |m
" Hl 2.58 | m2
K iR 1.27 | m2
RATERL 0.76 | m2
2314 0.32|m
AsEh 0.38 | m

P16.0

4000

450 2782

2700

V10. 090

DL=6. 00

50011 £

2440

As&h % b 5% B SHERMEICTH L
# Al 1.90 | m2
K 1.27 | m2
RATERL 0.76 | m2
THEE - #% HEEMRICTH L

I % £ HAlteSRElsaIs

BBl | swE 2/3
EE AL BE (BEWE R =
SM7 EE

AN T AR T R ER AR B R A R




PEEEREAR s=1:100

WHL 12080 VY= b Ty S EEE L=16000 BT Le1820
6000 10000
NEIE o /A Lk 300
300 © 3
~ e
o X2 y— b =
2 2 23
Slel 5 Sl
O 1 @ oE
ezl 5 ﬂ e
- 17 : ERINYY  swmw I
i
DL=6. 00 J L
500 £#IOvs  L=16000 500
S ™
B OE K

JOwy Y iR E@oovy Ak B ft T

$=1:50 (BEH) $=1:50 $=1:20
S=1:20
20 i
S0 =1
[ 323 %ﬁE*ﬁ
100 = < 33

O akavyy-b
o ck=18N/mm2

#25¢cm

_ N N =R=p Iy
= [X) (X S o ck=18N/mm2
A / 2 g BAAIYH Y-
560 o = o ck=18N/m2
2 760
=
= B st T S B =10 1 OnLIA 1= 1 57 +—
REE (ImY) o & 10n22% Y f3ACon 1. 22n3
B A A =1 Onm (1OmA P11 1 657) & W BO#® (BN % B > - EHERL 31t
KIRE VPG 65mn - (Gm2I=1EFT) HEJovy| A5FEKE m 1.00 -
WER ED)) AaAavy)-+ o ck=18N/mm2 m3 0.025
H1 Ho SL Jnvsis| =AM EBBRA £=200mm m2 0.76 = - = -
| om| mw| @3 XEMA 0.092m2/ R Lt_E ___ (=t&y) it b ___ (=&y)
2860 2360 3080 308 T o2 % L R % B % = % b il % B | % =
2310 1810 2138 2' 29 0' 75 NAEavhY-+ | ock=18N/mm2 | m3 0.38 A LkEavsY-b | ock=18N/mm2 | m3 0.30
2340 1840 2520 2.52 0.76

XAy )— 1+ 0.224m3/m2

XE#HH 1 14n2/E T X & | HAcEsalRsBIs

B oAl | ’F

T %4 mE |REME R

ST EE
BT R AN B R




